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SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
ES 4,676,085 4,559,321 116,764
XS 954,169 952,169 2,000
B ZR(2ES) 954,169 952,169 2,000
(Ha)FXXHH 29X 69,800 67,800 2,000
201 2 Bt2 4| 67,280 65,280 2,000
03 AL 2 bl 2,000 0 2,000
OFUUXNXZZ2 0 &E3 L MAF =]
2,000,000& * 14! 2,000 0 2,000
Xl <o 684,418 601,418 83,000
XSO 2 ALY 684,418 601,418 83,000
(B )AARFTUSIAAY 524,008 441,008 83,000
401 Al HIL 20| 524,008 441,008 83,000
01 Al& Bl 523,000 440,000 83,000
02s7el 22Y Y2 L EZ AH(L=50m)
15,000,000& 15,000 0 15,000
OXZ32 02t LM 2T 2 AH(L=80m)
8,000,000& 8,000 0 8,000
OLSEXE & HMAIME AXZAH(12])
7,000,000& 7,000 0 7,000
02ES 2E37 51-6(H)s=Z Z & (L=130m)
13,000,000& 13,000 0 13,000
os4t2el =2 & E 2 AHL=100m)
20,000,000 20,000 0 20,000
OzHel 2sAd &X 20,000,000& 20,000 0 20,000
CEMHYNUSHIITHE L 29 1,271,714 1,254,514 17,200
EMYYSICH] 22| 1,271,714 1,254,514 17,200
(HBahA&Esgae 138,761 137,761 1,000
401 Al HIL 20| 6,400 5,400 1,000
01 Al HI 6,400 5,400 1,000
O353&4A 2tEdX| 1,000,000& * 14 1,000 0 1,000
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401 Al HI L 201 Y| 799,668 785,668 14,000
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01 A&t =2 EF SHI 3,200 1,000 2,200
omaASxE SAHA ATME L HOE 7 2,200 0 2,200
HHSHAALH(2ES) 1,765,784 1,751,220 14,564
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(H3e)oHd=gdl 1,621,396 1,606,832 14,564
101 124 H] 1,576,816 1,562,252 14,564
03 RINAA=ZZ2RE > 316,545 301,981 14,564
Ollsted A 316,545 301,981 14,564
O Jlezs 123,358,080 123,359 117,560 5,799
d0l= 79,768 75,828 3,940
-Jlgs+g 29,543,520 29,544 27,574 1,970
-32=g 1,969,520 x50%+23| «7H 13,787 13,787 0
- Mg =al 36,436,520 36,437 34,467 1,970
O 3¥=+¢g 22,432 21,472 960
- E=E 4,880 4,560 320
B < A+ 2,560,000 2,560 2,400 160
JIEIHE 2,320,000 2,320 2,160 160
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USstul 433,880 x2& 42 D 3,472 3,472 0
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O&stel MEAIE XA 14 10,000 0 10,000
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=2s 769,848 761,833 8,015
Folso A M (=202S) 201,681 194,181 7,500

OISR 028X 4 201,681 194,181 7,500
(BF)FoMg 12 144,300 143,300 1,000

206 M 2 4l 9,412 8,412 1,000
01 MZl 9,412 8,412 1,000
ontgsd JHRI M2 1,000,000 1,000 0 1,000
(BF)ZAEA o 19,333 17,333 2,000
401 Al S HI 22 HH| 6,087 4,087 2,000
01 Al &b 6,087 4,087 2,000
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2,000,000 * 14 2,000 0 2,000
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201 LBt 32,728 30,228 2,500
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20148 &= =& 1 g L3I A M A
SA: BAN2S
o =0l 40 A A (UM2S)
oY OlEC0I2 IS x 4y (&9 &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
2 N2 530,134 520,528 9,606
=0l 4ol B A (AMN2E) 121,153 113,753 7,400
OtECI2 Mt2x4 121,153 113,753 7,400
(Bx)zoMaxd 80,036 78,636 1,400
201 2Bt 16,686 15,286 1,400
02 2229 8,602 7,202 1,400
OMAEXZY XSS 200,000 * 74l 1,400 0 1,400
(H=)Z0XXINEH 29 30,008 24,008 6,000
201 LBt 21,120 19, 120 2,000
03 B A2 G H 2,000 0 2,000
OFQUNXEZZ )& HHF L MAIF
2,000,000 * 13l 2,000 0 2,000
301 Yt A 4,888 2,888 2,000
09 BALAHI B A2 4,888 2,888 2,000
OFUXNXHEHEZYE #HAIAH 242
4,888,000 4,888 2,888 2,000
405 KH&HE S H| 4,000 2,000 2,000
01 A2 2 Z H S 4,000 2,000 2,000
OBl o &l Wikgt)] el 2 000,0008 * 1Al 2,000 0 2,000
HHSAAH (LAM2S) 408,981 406,775 2,206
0l 2| 358,887 356,681 2,206
(BZ=)o 2] 345,957 343,751 2,206
101 @124 4] 345,957 343,751 2,206
=S 345,957 343,751 2,206
CES=; 48,075 45,869 2,206
@ESnF=y=a = 24,267 22,061 2,206
S Firi === 24,267 22,061 2,206
SR
8,754 » 79 » 33AI2t * 128 24,267 22,061 2,206




